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I 27 mwn: list of those who bring 79 n%y 127p
The list: MYTYN NYIAY, MV NYIAY, PYTPY TP NRMV (0 RIPN), NTHY (2 DY) and y1xn (70 DY)

a

i

ii

~n12772 those who, due to financial circumstances, may bring m5Ta (birds) and those who bring m¥7 »>1a (nnn)
1 mb7 n1or and ynsn
2 mb7 5T the four listed in 0 RIpM (PVTPY WTPNR NRMIV, NITYN NP1V, NV’2 NYIAY)
~112772 some substitute 1::1, 2::2; 2::1; 1:2 = nnan is 1/10 of na>x for a nvo1a (explained below)
1:1: 075y brings one bird for her lamb (as n)
2:2: y11¥n brings two birds for 2 lambs (still brings lamb for nwy)
2:1: wTpn NRMVY etc. — bring 2 birds for 1 lamb
1:2: wpn NRMV etc. — bring 1 nnan for 2 birds (M57 *572)
Explanation of conclusion (770179 for 79’87 17717wY): per Rn»11 — if someone commiits to bring something worth a oo
to the nam — brings a lamb, as nothing else is brought that costs a 90;
(a) Source:v.1 —DWRis 2 P50 > wadis 1yYo (v. 2 — Y2 the age=> V2 the price)
(b) And: 1:x nywn (above) — proper price for 1p is ¥4 qo3 727 (1/16 201 727)
(c) Assumption: if 91 pays 1/16 of 1wy, then m>7 %57 must be 1/16 of 571 =3 mo11a (48 MoV is 1 903 W77)
(i) Challenge: the minimum for noRn NPWY should be 3 Moy
(if) Answer: Ran infers from n19v, who only brings 1 bird (24 mv112) divided by 16 = 1.5 moma
1. Challenge: it should be 1.5 mv1a
2. Answer: entire calculus inferred from n15v, who brings 1/32 (bird in place of lamb), m57 57 should
be an additional 1/32 of m51 = .75 of a nva (but we don’t bring less than nv11a to nam)

O b= W N -

II 37 mwn: differences between nnaw and all other n»y — in consequences for both T and 129p (MW)

7277 all NIY — NRYN; NNAY — DWR

Type of animal: all m»y — female; Nnaw — male (ram)

General punishment: all other m»p, M/F are same (j27p and man); nnaw — only man brings 127p, only nnaw gets man

a
b
c

i
ii

iii

Source (for m1ap limited to her): v. 3 — n7pa alludes to man (various explanations) — only n’nn (she)

~11272 he brings 127p only when she gets nmian

1 Source (X27): sequence of v. 3 (nn nMpa before 127p) = two are interdependent

2 propsoal: perhaps he is excluded from man, but she must bring j27p along with getting nan

3 rejection: WWR NR RaM — only he is liable

n¥’ 7. only liable if she was n%ya beforehand — per naam, meaning “(physically) changed” — per vv. 4-5
1 Note (n”): v. 6 indicates that those offerings were for mxa with mayin mnaw

d  Violations: all other m»y — n7yn::ami and separate liability for each nXk»a; nnaw — only nx’a 903 and 1 129p for several mxra

i

Note: this is a R1mn of Nnaw, making 1 equivalent to »mw

OI  n mwn: definition of ngIN MNow (v. 3)
a7 71 V2 tnaw V2 freewoman, per NnTa1 RY n7an (parallel: ™1 in Xn13, per nnTo1 R n7a0; he adds 2y T1yY NoMIRN)
Snpper 1 full Nnaw (in Xn?»12 — NOMIRNA to an *1aY Tay; NNT9) RY 1797 is just usual rhetoric)

a

b

C

i

Source (for »13y 7295 NoTIXK): NWAIN RY 73 Dhe is free

»7anT. all other My are explicated; ours must be %2 nnaw, %2 p1n na

i

ii

Y7an7in 80273 same as Y™; he was responding to YRynw 1 — that usually 07X 232 W5 AN 7727, but here R nTan
N7 is extra (considering nwan 8% ) > teaches that she is /2 nnaw and %2 p1n na
o7InX (in 817773): 19 101 RY nwan = he is 71 72y (since Nn191 RY already addresses her status, n% 17 85 nwamn 1Y)
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IV 1 mwn: singular characterstics of other m»y (in apposition to nnaw)
a  Minors: in other N1y, if one m partner is a jop, 1 is still liable (but jop exempt)
i Clarification: in n"v, if she is a nop, he is also exempt (not that she is also liable)
1 Reason: they are compared to each other (for liability- v. 3)
b  Asleep: in other mmy, if one partner is asleep, other is still liable (sleeper is exempt)
i Clarification: in n"v, if she is asleep, he is also exempt (not that she is also liable)
1  Reason: they are compared to each other (as above)
¢ Intent: in other m»y, if one partner is 3w and other 7, MW brings 1279 and 7 does not
d  ~mnbefore w71 “they equated nIYN: 1M PIONN IR PIINN; NITTI ROV::NITTI; WP
i Reaction: if this is a reference to N97N Nnaw — why say that they equated nayn::am1 — Na1In ANaw is only nxva 9031 17N
1 Additionally: without nima, 19’ and 13772 ®YW is not liable for nayIN MNaw (per v. 3 — Y71 N2OWY)
2 And: if this is about other n1y, should have equated n7yn to A9 (not Nyn M)
3 Question: Rin asked w™ if he should delete xn»12a
4 Defense (”): explain Rn»11 as follows:
(a) They equated: n3773 R5W M in 191N MNAY (exempt) to N27TI NN (exempt — per YT NAIV)
(b) And: they equated 13773 X5W 113NN in N"W (exempt) to 11511 WR (in other MY — exempt)
(c) And: awake 13773 X5V in n"v (exempt) to J©?
(i) Summary: NIYM PIINN in NWPINN R in other Ny
(i) And: 3773 W2 in all myy
(iii) And: awake 3773 XYW in N"w:: 1w in all nyy
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